8 7 6 S 4 3 [ 2 1
INCH |87A210-1 ITEM | QTY. | PART NO. DESCRIPTION WEIGHT
1 1 87D211-1 | DUCT - TOP 34
2 1 87D212-1 | DUCT - BOTTOM 34
3 1 87D213-1 | DUCT - LEFT SIDE 34
4 1 87D214-1 | DUCT - RIGHT SIDE 34
‘%ﬂhﬁ; 5 2 | 87D215-1 | DUCT - FLASHING <TOP/BOTTOM) 36
' ; ® 6 2 87D216-1 | DUCT - FLASHING (LEFT/RIGHT) 38
! 7 2 87D217-1 | DUCT - SUPPORT 2
! 8 16 345-8531 | 3/8"-16x1* FLANGED BOLT XX
i 9 20 | 198-2970 | 3/8“-16 FLANGED NUT XX
! 10 12 | 97646115 | 1/4"-20x1” S.S. FLANGED BOLT XX
| _ ”
| 11 12 317-5700 | 1/4” S.S. NEOPREME WASHER XX
! m‘!‘ 12 1 ECHA24112 | 1-1/2” FEMALE 0OZ BUSHING XX
! 13 1 ECHAlll2 | 1-1/2” MALE 0Z BUSHING XX
T | @/ 14 | 250" | 3E6697 SEAL - BULB XX
i 15 1 87D218 DUCT - STIFFENER 2
! TOTAL 214
|
|
|
|
| —
|
|
|
|
[ -‘ (X LY ?
REMOVE EXISTING CAT RADIATOR FLANGE AND DISCARD.
INSTALL DISCHARGE DUCT ASSEMBLY (87D210-1)
USING THE EXISTING HARDWARE
1. M * / H N - a
g k4 v v T k-4 o
D F = (G
r w lo o n -
- @
J A L
@) F + @
B | i e
3 @ ¥ + E3 @ L
— o 17 ) - - Jﬁ T
75 al la
1

ALTORFER POWER SYSTEMS
6315 W. FAUBER RD. PHONE (309) 697-1234

BARTONVILLE, IL 61607 FAX (309) 282-7546

07/12/13
BML
DATE
BY

THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION OF ALTORFER, INC. WITHOUT THE WRITTEN PERMISSION
OF ALTORFER, INC., ANY COPYING OR OTHER USE EXCEPT THAT FOR WHICH IT WAS INTENDED IS PROHIBITED

o
Z | & |ALL DIMENSIONS IN INCHES FILE PROJECT REFERENCE
L | G |UNESS OTHERVISE SPECIFIED DF/87A AMP500 RENTAL PACKAGE
£ | © [TOLERANCES| THIRD |SCALE/SHEET SIZE  |DRAWN BY QUOTE NUMBER
© 14| xx £ 0100 | ANGLE
8| % [XXX £ 0060 PROJECTION 1=15/C BML 0
& | I |XXXx £ 0005
2|3 & SHEET DATE WORK ORDER NUMBER
ANGULAR # 1 ‘ = 1 0F 1 05/15/13 0
TITLE DRAWING NUMBER
w|~|8 MOUNTING GROUP - DISCHARGE DUCT 87A210-1
8 7 6 S 4 3 2 [ 1




